FF#R3 CGERRZ

Support Unit FF

(Supported-side round

NSB

#msi/Park No. | BRER&%E/Part name =/Qty
1 B A EEAEE/Housing 1
2 #f#%/Bearing 1#8/1 set
3 CEU31R/Snap ring 1
4-OXBEOYIBRZ

4-X drill @Y counter bore depth Z

©
o / =)
al 7 o < N
) / P S o N
/ / /
BE{i / Unit : mm
T - o I T p. aleeml 2 | 2 | v | = R ERCRNE
Model No. | @ameter 9 Bearing Snap ring
-0.007
FFO06 6 10 6 4 22 0.02 36 28 28 | 34 | 6.5 4 606ZZ S6
-0.007
FF10 8 12 7 5 28 -0.02 43 35 3 | 34 | 65 4 6082Z S8
-0.009
FF12 | 10 15 7 8 34 0,095 52 42 42 | 45 8 4 6000ZZ S 10
-0.009
FF15 | 15 17 9 8 40 0.025 63 50 52 | 55 | 95 | 5.5 6002ZZ S15
-0.009
FF17 17 20 11 9 50 0025 77 62 61 6.6 11 6.5 620327 S17
-0.010
FF20 | 20 20 11 9 57 -0.029 85 70 68 | 6.6 11 6.5 620427 S20
-0.010
FF25 | 25 24 14 10 63 0.029 98 80 79 9 14 | 8.5 620527 S25
-0.010
FF30 30 27 18 9 75 0.029 117 95 93 1 175 11 62062Z S 30

ESREEREEZE]H Surface Special treatment is available.

09





